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Revision Exercise

Amber
Green

NUMBER

o | can use non-calculator strategies to perform IO
calculations using the four operations.

o | can confidently use the negative number line e Number Exercise 1
and answer problems in context. 'O

o | can add and subtract with negative

QO O
O 0O O

numbers:

eg.q) -5+4=-] b) 3-7=-4 'O e Number Exercise 2
c) 3+(2) =1 d) 5-(-2) =
e) (-4) +(-8)=-12 e) (-1)-(-9) =

o | can multiply positive and negative numbers

together: |
. b

e.g.q) (6)x5=-30 b) (2)x(7)=

Number Exercise 3

Q
O

o | can divide positive and negative numbers .
together: O C Q e Number Exercise 3

°g.d) (16} +8=-2 o) 12> (3= Extra Practice on

mixed questions
Exercise 4 and 5
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Amber
Green

Revision Exercise

ALGEBRA

o

o

o

o

| can remove brackets and simplify
e.g. a)5x+4)-7

=5x+20-7

=5x+13

b) 8(x +2)-3(2x-5)
=8x+16-6x+15
=2x + 31

| can solve equations with letters and numbers
on both sides:
e.g.8x+4=2x+40

-4 -4
8x =2x + 36
-2X -2X
6x =36
+6 +6
X =6

| can solve equations with brackets:
e.g.qa) 4(y-3)=20

4y -12=20
+12  +12
4y =32
4 4
Y =8

b) 5(3x-2) =4(x + 3)
15x =10 =4x+ 12

+10 +10
15x =4x + 22
-4x -4x
11x =22
+11 +11
X =2

| can solve equations involving fractions:
e.g. q) %x—5=2
+5 +5
lx =7
2
X2 X2
x =14

Q O
O O

Q
O

e Algebra Exercise 1 Q1

e Algebra Exercise 1 Q2

e Algebra Exercise 2

e Algebra Exercise 3

e Algebra Exercise 3

e Algebra Exercise 4 Q1
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b) =x+2=8
-2 2
2, =4
3
x3 x3
2x =18
=2 +2
X =9
C) 4y3+5=7
x3 x3
4y + 5=21
-5 -5
4y =16
=4 +4

Algebra Exercise 4 Q1

Algebra Exercise 4 Q2
+3




COURSE 2 BLOCK 7 LEARNING EVALUATION x ’
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Revision Exercise

Amber
Green

LENGTH, PERIMETER AND VOLUME

o | can convert between units of length, such O Q Q e Length, Perimeter,

as mm, cm, m and km. Area and Volume
Exercise 1

o | can calculate the perimeter of a shape:
(Remember sometimes you must work out missing

lengths before you work out the perimeter.) O O. O e Length, Perimeter,
Area and Volume
Exercise 2
e.g. Aq)
<C P=9+6+6+4
6cm 6cm
=25cm
b) P=12+3+12+3
3cm
=30mm
c) -
A
P=12+10+3+8+7+4
=44m
10m
A
3m
\J Y
- 12m >

o |can work out the area of a square and a
rectangle, ensuring | show all lines of working:
e.g.a) Square b) Rectangle

O O. O e Length, Perimeter,
Area and Volume

Exercise 3, Q1+2

8.5m

A=Ixb
A:5X52 A=lxb
A = 25¢cm A=85x4

A = 34m?




O

o | can work out the area of a friangle, ensuring
| show all lines of working:
e.g. a) Right-Angled Triangle

A=1><l><b
2

4cm A=% X9 X 4
1
A==-X36
9cm 2
A=18cm?
b) Any Triangle
A A=-Xb X h
2
A== X 6 X 8
8cm
A=2x48
2
A =24cm?

6cm

o | can work out the area of a parallelogram,
ensuring | show all line of working:

e.g.

A=BxH
am A=9x4

A =36m?

Length, Perimeter,
Area and Volume
Exercise 3, Q3

Length, Perimeter,
Area and Volume
Exercise 3, Q3

Length, Perimeter,
Area and Volume
Exercise 4 Q1




COURSE 2 BLOCK 7 LEARNING EVALUATION X ’

O

o

| can work out the area of a Kite and a

Rhombus, ensuring | show all line of working:

e.g.
a) A kite
A .
A=ExDxd
A=%x12x7
12cm
A=-x84
A=42cm?
\ 4
7cm
b) A Rhombus
A=%xDxd
5mm 1
A=Ex8x5
< > A=>x40
8mm 2
A =20mm?

o

o

| can work out the area of a Trapezium,
ensuring | show all line of working:
e.o.
= % (a+b)xh
6cm
= % (8+6)x7

A=§uqx7
A=7x7

A =49cm?

| can work out the area of a Composite,
ensuring | show all line of working:

e.g.

9cm

A1=LXB A,=LXB

A1 =9x4 Az =6x2
6cm

A; = 36cm? Az = 12cm?

Total Area =36 + 12 = 48cm?

ololo

Length, Perimeter,
Area and Volume
Exercise 4 Q3a + b

Length, Perimeter,
Area and Volume
Exercise 4 Q3c + d

Length, Perimeter,
Area and Volume
Exercise 4 Q2

Length, Perimeter,
Area and Volume
Exercise 6




COURSE 2 BLOCK 7 LEARNING EVALUATION x ?

O
1
Ai=LXB  A=ixLXB .
14 cm ! i e Length, Perimeter,
Ai=12x14 A= 2x8x12 O-O O Area and Volume
12 em Exercise 6

A1=168cm?  A;=48cm?

Total Area = 168 + 48

. =216cm?

A1=20x30 A=Mx10%+2 0.0 O e Length, Perimeter,

Area and Volume
A1 =600mm? A, =157.08mm?

30mm Exercise 6

Total Area = 600 + 157.08

=757.08mm?

20mm

o | can calculate the circumference of a circle:

e.g. O O O e Length, Perimeter,

C=NxD Area and Volume
Exercise 5 Q1
C=Nx12

C=37.7 cm (to 1dp)

o | can calculate the area of a circle:

e.g.
A=Nxr? O. O O e Length, Perimeter,

A =1 x 42 Areo‘ond Volume
Exercise 5 Q2

A =50.3m? (to 1 dp)

o | can calculate the volume of a cube and a
cuboid.

e.g.a) A cube
V=Ixbxh O IO O e Length, Perimeter,

Area and Volume
V=5x5x5 Exercise 7

V=125m3




O

4cm

b) A cuboid

V=Ixbxh

4cm V=6x2x4

V =48cm3

2cm

6cm

| understand that 1cm3 = Tml and can use this

information fo calculate liquid volume.

volume.

| can solve problems involving area and

| recognise 3D objects by their nefts.

| can find the surface area of cubes and

cuboids.
e.g.
a) Surface Area of cube:
Oneface:A=Ixb
A=6x6
A =36cm?
Six faces = 6 x 36 = 216cm?
4cm
b)
1 Surface Area of cuboid:
L
| First face:A=1xb
I
: A=7x3
ol W A =21cm?
cm
7cm

Second face: A=1xb

Total Surface Area=21+21+28+28+ 12+ 12 =122cm?

A=7x4

A =28cm?

Third face: A=1xb
A=3x4

A=12cm?

O

Length, Perimeter,
Area and Volume
Exercise 7

Length, Perimeter,
Area and Volume
Exercise 8

Length, Perimeter,
Area and Volume
Exercise 8

Length, Perimeter,
Area and Volume
Exercise 9

Length, Perimeter,
Area and Volume
Exercise 10 Q1

Length, Perimeter,
Area and Volume
Exercise 10 Q1




O

o | can find the surface area of friangular prism.
e.g.
Surface area of triangular

4c prism:
First face: A=1xb
A=5x4
>em A = 20cm?

4cm
Second face: A = % Xxbxh
A=2 x4x3
2

A = 6cm?

Total Surface Area=20+20+20+ 6+ 6 = 72cm?

o |can find the surface area of a cylinder.

5cm

3cm

Finding the length of the

Surface area of cylinder:
rectangle: C=m xD

First face: A=m x r?

C=mx6
A= x3?
C=18.85cm
A =28.27cm?(to 2dp)
(to 2dp)

Second face: A=1xb
A=18.85x5
A =94.25cm?(to 2dp)

Total surface area = 28.27 + 28.27 + 94.25 = 150.79cm?

Length, Perimeter,
Area and Volume
Exercise 10 Q2

Length, Perimeter,
Area and Volume
Exercise 10 Q3




O

TN

8cm

10cm

Surface area of cylinder:  Finding the length of the

First face: A = x r? rectangle: C =7 x D

A=1rx52 C=mx10
=31.42
A = 78.54cm?(to 2dp) €=31.42cm
(to 2dp)

Second face: A=1xb
A=31.42x8

A =251.36cm?(to 2dp)

Total surface area = 78.54 + 78.54 + 251.36 = 408.44cm?

Length, Perimeter,
Area and Volume
Exercise 10 Q4
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O

NUMBER REVISION

Exercise 1

1. Read the following thermometers and state the temperature:

b) ) a) A
=| ¢ =20
E_ 5% ; 10°C
=l 0°C ; o°c
=|-5°C I -10°C
Ll 100 -20°C

@ @

2. Put these temperatures in order, the lowest first.
2°C, -8°C, -1°C, -6°C, -4°C

3. Which of these temperatures is lowest?
i) -4°C or -2°C ii) -16°C or -17°C

4. The temperature in Paisley one day in December was 6°C. The temperature fell by 8
degrees by Tam. What is the temperature now?

5. What is the difference in temperature between -4°C and 14°C?2

6. What numberis 10 up from -37.

7. What number is 8 down from -23.

8. The temperature in Moscow was -12°C at 4am. By 2pm the temperature had risen by 7°.
What was the temperature at 2pm?e

9. The temperature in Russia one afternoon was -7°C. By night fall the temperature had fallen
by 11°. What was the temperature at night falle

Exercise 2

1. State which of following statements are true or false.
a 8>3 b)-2<5 ¢J0<-1 d) -9>-4

2. Complete the following calculations:
a) 2-7 b) (-3) +8 c) (-5)-9 d) 12-20
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e) (-18)+6  f) (F13)+7 g) 3+ (-10) h) 10+ (-4)
i) 0+ (-18) j) (-6) +(-8) K) (-2) + (-16) ) (-19) + (-20)

3. Complete the following calculations:
a) 4-18 b) (-6) =15 c) 7-(-10) d) 0-(-19)

el (8)-(3) f) (17)=(-5 9] (2 -(-11) h) (-39) - (-20)
i) (-6) - (-4) i) (10)=(-9) k) (-20)-(-15) 1) (-50)-(-30)

Exercise 3

Complete the following calculations:

a) 35+ (-7) b) (-2) x9 c) (-30) +5 d) (-9) x (-8)

e) 7 x (-4) f) (-12) x5 h) (-54) + (-9) i) (-48) + 6

k) (-8) x (-4) ) 7x(-13) m) (-100) + (-20) n) 50 + (-2)
Exercise 4

1. Complete the following calculations:

a) 7-19 b) (-5) + 12 c) (-4)x8 d) 1+(-16)
e) (-8) +(-15) f) (-9)-(-14) g) (-63)+9 h) (-28) - (-10)
i) (-14) x (-6) = i) (-8)-13 K) (-15) + (-12) ) 120+ (-2)
m) (-49) + 7 n) (-17) = (-21) o) 2+ (-14) p) (-6) x5

a) 7-(-10) r) 32 + (-8 s) (-4) + (-9) t) (-1)-(-17)
u) 13x (-4) V) (-66) = (-11) w) (-18) = (-12) x) 5+ (-16)
y) (-9) x (-7) z) (-2) +(-11)

Exercise 5

Complete the following calculations:

1. (-7)+8 2.3-10 3. 4+(-18)
4. (-9)x 6 5. 6-(-17) 6. (-3) = (-5)

7. 63+ (-7) 8. (-4) x (-8) 9. (-25) - (-12)
10. 2+ (-19) 11. (-54) + 6 12. (-10) + (-36)
13. 5x (-13) 14. (-42) + (-7) 15. (-50) — (-28)
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ALGEBRA REVISION

Exercise 1

1. Remove the brackets and simplify:
(a) 2(g+4)+3 (b)3(e+1)+6 (c) 5(t+4)+2 (d) 6(u+2)-7
(e)4p+2)-7 (f) 80v + 10(7v+n) g) 12-2(x-95)

2. Remove the brackets and simplify:

(@) 3(m +2) +4(m + 1) (b) 5(b+2) +2(b+4) (c) 8(c + 1) +3(c +6)
(d) 2(8t—2)+5(2t+4) () 6(4-5e)+7(2+ 4e) (f) 4(2x + 1) = 3(x + 2)
(9) 9(x + 1) = 6(x—2) (h) x(8x — 2) - 2(3x - 8)

Exercise 2

Solve the following equations:

. x+3=9 2. 2x=6 3. 4—x=5

4 2x+3=13 5.2x=1 6. 3x =2

7. 4x = 20 8.4x —1=19 9.4x = =20

10. 2x = —6 11.4x = -8 12. 4x = -1
13.2x+3 = =5 14. 2x -3 =5 15. 2x -3 =x+2
16.7x —3 =2x+ 12 17. 7y —8=5y+2

18.4x + 5 =2x—11 19. 5x =6 =2x—15

20.x + 2x = —15 21. 3x = 5=4x-7

22. 2x+7=5x-3 23. 2x+7=12-3x

24. 6y —2=8y—5 25. 8 —4x = 10— 2x

Exercise 3
Remove the brackets and solve the following equations:
a) 3(x-5)=12 b) 5(2x-3) =15 c) 5(3-2x) =30 d) 3(2x-4) =8
e) 7x+2=5(x-2) f) 22-3x=2(x+6) g) 13-3x=4(x-2)
h) x—18=2(2x=3) i) 4(2x=3)=3x—-27 |) 3(x—=2) +2(x +4) =17
(k) 5(2x+ 1) + 6(1 =2x) = 1 (1) 2(3x + 1) + 3(x—4) = 4x + 5
(M) 4(3x—6) + 5(x + 1) =5x+5 (n) 4(x +5) = 2(x + 1) = 30
(0) 2(4x + 1) = 3(x=3) =x+35
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Exercise 4

1. Solve the following equations:
a) x+6=10 b) sy-5=2 ¢)za+3=-4 d) x-4=6

e)x+3=9 f)2x+10=19

2. Solve the following equations:

(a) x;1=3 (b) 20;422 (©) ¥=6 (d) w;9=8

(e) w—325:_7 ) xl—Z:_l (g) w-;20=_2 (h) .\‘;9=_2

3. Solve the following equations:

(@ 3x+5 (b) 5x-12 _ () 4x+2 (d 10x+3
> 3 -4 6 > I
(e) 5x-8 _ (f) 8x+4 _ (8 2x+13 _ (h) 3x-4 _
> =10 —— =128 —5 =1 7 =—4

St Andrew’s Academy Maths Department 2016-17



LENGTH, PERIMETER AND AREA REVISION

Exercise 1

1. Convert each of the following units:
a) écmtomm b) 72cmtomm ¢) 850mm tocm d) 9mm tocm

e) 8mtocm f) 12.3mtocm g) 800cmtom h) 1.8mtocm
i) 0.7mtocm i) 3kmtom k) 6.3km to m ) 42700m to km
Exercise 2

1. Calculate the perimeter of the following shapes:

a) LJ | b) c) 2em 2em
7cm 2em Jem
2cm 2cm
i} m
3am 2cm
Scm
e)
2cm
d) 8cm
6cm
Py 4cm
2cm
f) Gmm
gmm
15mm 14mm
Exercise 3

1. Calculate the area of the following rectangles:

(a) (b) (c) (d)

9em 8cm 3cm
12e¢m

5cm 7em [ Jeem \Bew
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2. Calculate the area of the following squares:

(a) e (b) (c) (d 14cm
9mm

20cm

3. Calculate the area of the following friangles

a)

b) c)
4mm 4cm amm
6mm 9cm

12mm

d) e)
/N -
T6m =6

Exercise 4

1. Calculate the area of the following shapes:

(a) (b) (c)
» . A 12cm
\ > \ '2cm 4cm ; N A 7_( 8cm
8cm ¢ — > ‘
5cm
(d) (e)
—> R
/ 5cm /6cm 5cm 4 5¢cm
sy !
9cm 4cm
2. Calculate the area of the following shapes:
(a) (b) t4em (©)
3cm — 12cm
\ / / \8cm
/TC,;\ 10cm ;7cm\
— ) 20cm
7cm 11cm
3. Calculate the area of the following shapes:
a) o) + <
¢
2.4m
14cm I
— 6m D —
8m v
8cm
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d)

40mm

Exercise 5

1. Calculate the circumference of each of the following circles:
a) b) c)

22mm
2. Calculate the area of each of the following circles:
a) b) c)
5cm
Exercise 6

1. Calculate the area of the following shapes:

3m 10 cm

3m
5m 8 cm

3m

- - - - -

' 14 cm

52cm 47cm

>

35cm 4.1cm
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22cm

e) 4cm f)
/ \ | 5em
. b6cm -
12cm
16¢cm
15¢cm
2. Calculate the shaded area in each of the _
(@) 13m (b)
12
5m A 7.5m "
9m | v
14.4m
Exercise 7
1. Calculate the volume of each of the following shapes:
(a) (b) (©)
5cm
e 10em 11cm 3cm e
4cm
2cm 6cm
(d) (e) (f)
3cm 5m 7mm
Exercise 8

1. Find the volume of a water tank that is 80cm long, 40cm wide and 20cm high. Give your
answer in litres.

2. William is painting the side of his house.
He has 8 litres of paint and each litre of paint covers 16m2.
Does Wiliam have enough paint

4

4m
10m

15m
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Exercise 9

Copy and complete the table:

Mame of shape

What shapes are the faces?

Which net?

Triangular prism

b

2 triangles, 3 rectangles

C

o B

Exercise 10

1. Calculate the surface area of each of the following shapes:

a) b) c)
Sci 2cm
4cm

3cm

2cm
Bem Scm
9%cm

e) f) g

icm
4cm
o Scm
m d4cm
dcm 8cm

4cm

Scm

2. Calculate the surface area of each of the following triangular prisms:

8cm

c)
S5cm
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6cm

R o
\J
B
¢ <>
M
/
D
—
<O
E -‘\\.
_—
F o)
B
_B
¢ = n
d)
2cm
cm
8cm
h)
6cm
1cm
12cm
d)
4cm
12cm
10cm
9



3. Use the nets below to find the surface area of the cylinders.

Give your answer to two decimal places.

a)

8c

15cm

g O O

o)

D

1lcm

Scm

g OO

4. Find the surface area of the cylinders, to 2 decimal places:

»

O)C%
13 4

25cm

N—

C)< E >
5.4 +

9.2m
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b)

d)

12cm

0

48m

(

3cm

S.2m



